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TN — VA% (2) 36 |BhSHEREIRIL = R R5.3~R5.3 1 9,865 9,865 4
TN =/ INFA% (2) 36 |BhSHEREIRIL 3 R R5.3~R5.3 1 6,499 6,499 4
TN =/ INFA% (2) 36 |BhSHEREIRIL = R R5.3~R5.3 1 1,561 1,561 4
R — /N (2) 36 |BhSHEREIRIL 3 R R5.3~R5.3 1 6,338 6,338 4
R — /N (2) 36 |BhSHEREIRIL J= R R5.3~R5.3 1 1,420 1,420 4
PR /N (2) 36 |BhSHEREIRIL % R R5.3~R5.3 1 3,130 3,130 4
PR /N (2) 36 |BhSHEREIRIL R R5.3~R5.3 1 9,865 9,865 4
R /NS (2) 36 |BhSHEREIRIL = R R5.3~R5.3 1 5,215 5,215 4
kgt N (2) 36 |BhSHEREIRIL % R R5.3~R5.3 1 6,052 6,052 4
kgt N (2) 36 |BhSHEREIRIL = R R5.3~R5.3 1 4,495 4,495 4
A /N (2) 36 |BhSHEREIRIL % R R5.3~R5.3 1 3,705 3,705 4
A /N (2) 36 |BhSHEREIRIL = R R5.3~R5.3 1 5,207 5,207 4
/N (2) 36 |BhSHEREIRIL % R R5.3~R5.3 1 7,244 7,244 4
/NP (2) 36 |BhSHEREIRIL = R R5.3~R5.3 1 5,091 5,091 4
WA /N PR (2) 36 |BhSHEREIRIL % R R5.3~R5.3 1 8,531 8,531 4
WA /N AR (2) 36 |BhSHEREIRIL R R5.3~R5.3 1 9,161 9,161 4
WA /N AR (2) 36 |BhSHEREIRIL = R R5.3~R5.3 1 1,695 1,695 4
JIES /N (2) 36 |BhSHEREIRIL % R R5.3~R5.3 1 2,925 2,925 4
JIES /N (2) 36 |BhSHEREIRIL = R R5.3~R5.3 1 6,586 6,586 4
i 104,585 104,585




